Basic Pad ZP Series
Mounting Bracket Assembly

Adapter Assembly: Vacuum Inlet Direction Vertical i Type/ZPT

Product 21000 G
Pad diameter Connection thread (Male thread)
Pad formT TVacuum inlet (Male/Female thread)
Pad material
g:g‘sm"e“t ©Gasket. Male thread Male thread Female thread
(®Adapter T ‘ % ®Adapter
(With gasket) % ]F ®Mounting nut g
_ 202 to 008 o L] 202 to 650
Thin flat typegl;holr':oﬂ;t1 éype with ribs: @Ad_apter .
T (With mounting nut)

210 to 50
_— PPad diameter symbol
ymbo
02 04 06 08 10 13 16 10 13 16 20 25 32 40 50
Flat type U () () () () — — — () [ () ® () () ® ()
Flattypewithribs| € | — | — | — | — | — | —m | — | @ | @ | ® | ® | ® | @ | @ | @
Bellows type B = = ([} [ J = = = ([ J [ J [ J ([ J [ J [ J ([ J [ J
Pad form Thinflattype |UT| — | — | — | — | @ ° ) - = == = = =1 -
Thin flat type with ribs| CT | — — — — [ J () [ J = = = = = = = =
Deep type D — — — — — — — (] — [ J — [ J = ([ J =
o é M5 x 0.8 A5 | — — — — — — — () [ ) o — — — — —
Connection ﬁ M6 x 1 A6 | — — — — — — — () ® ® () o () ® o
thread [ M8 x 1 Al — | - - = =] =T=]=]=1=]e| e e e e
03 M5x08 A5 ZPT1-A5 —
c O
=< M6 x 1 A6 ZPT1-A6 —
M3 x 0.5 Nil — ZPT2-(A5/A6) ZPT3-A6 ZPT4-A6
i
= M5 x 0.8 — — ZPT3-A8 ZPT4-A8
-l < M4 x 0.7 B4 ZPT1-B4 —
o Il T
§ 3 R M5 x 0.8 B5 ZPT1-B5 ZPT2-B5 ZPT3-B5 —
O [ES
@ BN o M6 x 1 B6 — ZPT2-B6 ZPT3-B6 ZPT4-B6
©
@ g M8 x 1.25 B8 — — ZPT3-B8 ZPT4-B8
- Rc1/8 BO1 —_ ZPT2-B01 ZPT3-B01 ZPT4-B01
NPT1/8 NO1 — ZPT2-NO1 ZPT3-NO1 ZPT4-N01
NPTF1/8 TO1 — ZPT2-TO1 ZPT3-TO01 ZPT4-TO1
M5 x 0.8 — NTJ-015A — —
®Mounting nut M6 x 1 — SNJ-006C SNJ-006C SNJ-006C
(Single unit)
M8 x 1 — — RB08J RB08J
10 pcs.*! ZP-5G2 — — —
For M5 x 0.8
©Gasket 100 pes.*! M-5G2 — — —
(Single unit) 10 pes.*! ZP-6G2 — — —
For M6 x 1
100 pcs.*! M-6G — — —

x1 The gasket (single unit) sales unit is shown.

©121



Basic Pad

Mounting Bracket Assembly

ZP Series

Adapter Assembly: With One-touch Fitting, Vacuum Inlet Direction R Type/ZPR

Model
Selection

Product ZPR -
part no. % @ T
Pad diameter T T Connection thread (Male/Female thread)
Pad form Vacuum inlet (One-touch fitting) g
>
Pad material E
L
Component Male thread Female thread
parts g9
>
(1 ] B
(i [s—O©Mounting nut [ H 0 =
H e
B 8
ks >
(®Adapter =
. . Adapter SE
With mounting nut) - = F——1p @(Wi “? asket) e
With gasket : ] 9 S
[ P
/% (DGasket g
S
(DGasket =
L 2
o
K
(BPad mounting adapter e
S
-
5
[TH
£
£
Smbol PPad diameter symbol —
™02 [ 04 | 06 | 08 | 10 | 13 | 16 | 10 | 13 | 16 | 20 | 25 | 32 | 40 | 50 8.
Flat type Ul e|[e e e | | —|— e /e |[e|e e e e e ot
Flattypewithribs | C | — | — | — | — | — | — | — | @ | @ | @ | ® | ®@ | ©® ® ® L §
Bellows t = = === =
@Pad form e. ows type B o o [ J o o o [ J [ J [ J [ J £
Thinflattype |UT| — | — | — | — e | @ @ | — | — | —| -] -] -] — | — —
Thin flat type with ribs | CT | — — — — [ () (] = = = = = = = = §
Deep type D | — — — — — — — [ ) — () — (] — (] — ';_
B[ M5x08 | A5 ZPRS-04-A5 ZPRS-04-A5 — — o
£ Mex1 | A6 ZPRS-04-A6 ZPRS-04-A6 ZPRL-04-A6 — o
S| mM8x1 | A8 — — ZPRL-04-A8 — ——
3| M4xo7 [ B4 ZPRS-04-B4 — — — 5
3 £[ M5x08 | B5 ZPRS-04-B5 ZPRS-04-B5 ZPRL-04-B5 — g
b @
g S| mMex1 [B6 — ZPRS-04-B6 ZPRL-04-B6 — 3
s il £ M8x125| B8 — — ZPRL-04-B8 — o, >
o zg.ﬂ
B il §| M5x08 | A5 ZPRS-06-A5 ZPRS-06-A5 — — £S5
2| S| Mex1 [ A6 ZPRS-06-A6 ZPRS-06-A6 ZPRL-06-A6 | ZPRL-06-A6 | [/
3K N S| Mex1 | A8 — — ZPRL-06-A8 | ZPRL-06-A8
é 3 A 5| Maxo7 B4 ZPRS-06-B4 — — —
€ 5 £| M5x08 | B5 ZPRS-06-B5 ZPRS-06-B5 ZPRL-06-B5 —
[<}]
3 <) = Mex1 | B6 — ZPRS-06-B6 ZPRL-06-B6 | ZPRL-06-B6
s & [ M8x125 | BS — — ZPRL-06-B8 | ZPRL-06-B8
() E| Mex1 | A6 — — ZPRL-08-A6 | ZPRL-08-A6
2| mMsx1 |A8 — — ZPRL-08-A8 | ZPRL-08-A8
B| M5x08 | B5 — — ZPRL-08-B5 —
=| Mex1 |B6 — — ZPRL-08-B6 | ZPRL-08-B6
& [ M8x1.25 | B8 — — ZPRL-08-B8 | ZPRL-08-B8
Pad mounting adapter ZPT1-B5 ZPT2-B5 ZPT3-B8 ZPT4-B8
© _ M5 x 0.8 NTJ-015A NTJ-015A — —
(g‘:‘gfé':gig‘“ M6 x 1 SNJ-006C SNJ-006C SNJ-006C SNJ-006C
M8 x 1 — — RB08J RB08J @
©)Gasket (Single unit 10 pcs.*! ZP-5G2 ZP-5G2 ZP-8G2 ZP-8G2 2
asket (Single unit) ™55 pes.*" M-5G2 M-5G2 — — s
o

%1 The gasket (single unit) sales unit is shown.

122 ®




Basic Pad .
Mounting Bracket Assembly ZP Series

Adapter Assembly: With Barb Fitting, Vacuum Inlet Direction Y Type/ZPY

5 27 020-9-@
Pad diameter Connection thread (Male/Female thread)
Pad formT TVacuum inlet (Barb fitting)
Pad material
Component Male thread Female thread

parts fj (®WAdapter

-}%Mounting nut p

¥

——

@®Adapter ————F |
(With mounting nut) %?@%

Symbol PPad diameter symbol

02 | 04| 06| 08|10 |13 |16 | 10|13 |16 [ 20 | 25 [ 32 | 40 | 50
Flat type U|jloe | o |  @e|le| —|—|—|eoe| e oo e e e °
Flattypewithribs [ C | — | — | — | — | — | — | — | @ | @ [ @ [ @ | @ [ @ | @ °
Bellows type B | — | — [ J () = | = = [ J [ J [ J () (J (J [ J [ J
@Pad form Thin flat type Ut | — = = = [ J [ J (] = = = = || = || = = =
Thin flat type withribs | CT | — | — | — | — | @ (] (] = |l=l=ll=I|l=]= = =
Deep type D | — — — — — — | = o — o — [ J = [ J =

%[ M5x0.8 | A5 ZPY1-N4-A5 ZPY2-N4-A5 — —

<[ Mex1 [ A6 ZPY1-N4-A6 ZPY2-N4-A6 ZPY3-N4-A6 —

2| M8x1 | A8 — — ZPY3-N4-A8 —

5| Max07 | B4 ZPY1-N4-B4 — — —

> £[ M5x08 | B5 ZPY1-N4-B5 ZPY2-N4-B5 ZPY3-N4-B5 —

£ S| Mex1 |B6 — ZPY2-N4-B6 ZPY3-N4-B6 —

= £ [ M8x1.25 | B8 — — ZPY3-N4-B8 —

2 §| M5x08 | A5 ZPY1-N6-A5 ZPY2-N6-A5 — —

5 <[ Mex1 | A6 ZPY1-N6-A6 ZPY2-N6-A6 ZPY3-N6-A6 | ZPY4-N6-A6
~ S| Mex1 | A8 — — ZPY3-N6-A8 | ZPY4-N6-A8
£ W 5| Maxo7 [ B4 ZPY1-N6-B4 — — —
= il < [ M5x08 | B5 ZPY1-N6-B5 ZPY2-N6-B5 ZPY3-N6-B5 —

i = ) 5| mex1 [B6 — ZPY2-N6-B6 ZPY3-N6-B6 | ZPY4-N6-B6
i = il & | M8x1.25 | B8 — — ZPY3-N6-B8 | ZPY4-N6-B8
Y = 3 5[ vsx08 | A5 ZPY1-U4-A5 ZPY2-U4-A5 — —
S € W= vext | A6 ZPY1-U4-A6 ZPY2-U4-A6_ | ZPY3-U4-A6 —
3 S| msx1 | A8 — — ZPY3-U4-A8 —
é 3| M4xo07 [ B4 ZPY1-U4-B4 — — —
£| M5%x08 [ B5 ZPY1-U4-B5 ZPY2-U4-B5 ZPY3-U4-B5 —

g S| Mex1 | B6 — ZPY2-U4-B6 ZPY3-U4-B6 —

2 & | M8x1.25 | B8 — — ZPY3-U4-B8 —

9 3| M5x08 | A5 ZPY1-U6-A5 ZPY2-U6-A5 — —

5 £ wex1 [ A6 ZPY1-U6-A6 ZPY2-U6-A6 ZPY3-U6-A6 | ZPY4-U6-A6

S| m8x1 | A8 — — ZPY3-U6-A8 | ZPY4-U6-A8

5| Maxo07 | B4 ZPY1-U6-B4 — — —

£[ M5x08 | B5 ZPY1-U6-B5 ZPY2-U6-B5 ZPY3-U6-B5 —

S| Mex1 |B6 — ZPY2-U6-B6 ZPY3-U6-B6 | ZPY4-U6-B6

£ [mM8x1.25 | B8 — — ZPY3-U6-B8 | ZPY4-U6-B8
_ M5 x 0.8 NTJ-015A — — —

g"i‘r’l‘;'l‘;':gi{‘)“‘ M6 x 1 SNJ-006C SNJ-006C SNJ-006C SNJ-006C
M8 x 1 — — RB08J RB08J

®123



Basic Pad

Mounting Bracket Assembly

Buffer Assembly: Vacuum Inlet Direction Vertical iy Type/ZPT

ZP Series

Model
Selection

Product ZPTO Q0 (WK B-@-6
part no. T T
Pad diameter Connection thread (Male thread)
Pad form T Vacuum inlet (Female thread/One-touch fitting/Barb fitting)
Pad material Buffer stroke §
-
J: Rotating, K: Non-rotating E
Component One-touch fitting | | ==
arts . )
p f% [©Mounting nut (DMounting nut | gz
©Buffer plate ‘ 5z
[ il L @Buffer a s
C ! ! With mounting nut i g
>
®Buffer ———— With gasket ) s
With buffer plate | LL Barb fitting ol
(With mounting nut ©®Gasket 3
(®Pad mounting —
adapter S
[’
3
@
Syt @ Pad diameter symbol prm—
02 | 04 | 06 | 08 | 10 | 13 | 16 | 10 | 13 | 16 | 20 | 25 | 32 40 50 =3
Flat type Ule[e e e | —|—|e[eo[e|e e o ° ° =
Flat type withribs | C | — — — — — — — [ [ [ [ [ [ [ [ E
Bellows type B | — — o [ — — — [ (] [ (] [ [ [ [ ] =
@ Pad form e T: — | —Je e || —|—|—|—-—1=-"1=-"1 = — i
Thinflattypewithribs| CT | — | — | — | — | @ | @ | @ | — | — | — — — § m
Deep type D — — — — — — — [ J — () — [ = [ J = = E
6/l e[ o | o o0 o 0 || —|—|—|—]-— — — <
10/ @ | e e | @ | @ | 0o 0o ([0 0| 0o ([0 o o ° ® £%
i5 @ | © @ | @ © | ® | ® | — | — | — | —|—|— — — L
e 20— | — | —|—-—]—-—]—-—]—]@e| e |  e| e | e | @ ® ® 2
25| e | o | @ | @ |  ® | ® |0 | — | — | —|—|—|— — — =
30| — | — | — [ — [ === e|e e|e e e ° ° 2
40| — | — | — | — [ —|—]—]e | e | e | e | e | @ — — ]
50 — | — | — [ = = =] - e e e|ee]e D D o
(5 NERIN Male bR yAS ® — — — S_
thread thread | -M10x 1 |A10 — o L — g
M14x1 |A14 — — — ° £
9 M3 x 0.5 B3 ZPB1(J/K)3®-B3 — — — 8
2 M5 x 0.8 B5 ZPB1(J/K)3-B5 ZPB2(J/K)3-B5 | ZPB2(J/K)3-B5 | ZPB3(J/K)3-B5 | o
o Rc1/8 BO1 — — — ZPB3(J/K)3-BO1 | [k
s BE NPT1/8 NoO1 — ZPB3(J/K)3-No1 | [EFE
o = NPTF1/8 | TO1 — — — ZPB3(J/K)3-TO1 | [
4 E B 24 04 ZPB1(J/K)3-04 ZPB2(J/K)3-04 | ZPB2(J/K)3-04 —
é § e 26 06 ZPB1(J/K)3-06 ZPB2(J/K)3-06 | ZPB2(J/K)3-06 | ZPB3(J/K)3-06
> [ 28 08 — — — ZPB3(J/K)3-08
X" o | For o4 nylon tubing | N4 ZPB1(J/K)3-N4 _ _ —
£ | For g6 nylon tubing | N6 — ZPB2(J/K)3-N6 | ZPB2(J/K)3-N6 | ZPB3(J/K)3-N6
€ | For 04 soft tubing | U4 ZPB1(J/K)3-U4 — — —
@ | For @6 soft tubing | U6 — ZPB2(J/K)3-U6 | ZPB2(J/K)3-U6 | ZPB3(J/K)3-U6
(B)Pad mounting adapter — ZPT2-B5 ZPT3-B5 ZPT4-B8
(©Buffer plate (Single unit) ZPB1 — — —
(DMounting nut (Single unit) RB08J ZPNA-M10 ZPNA-M10 ZPNA-M14
*1 - - - =
(EGasket (Single unit) 11000p::s--*1 — ZMP_55§: ZMP_55GGz2 ZP_8G2

x1 The gasket (single unit) sales unit is shown.

[Buffer assembly part number example]

ZPTO8UN [J][10]- 04 - A8

Buffer assembly

ZPB1 [J][10]- 04

(3Buffer stroke

124 ®

Precautions




Basic Pad
Mounting Bracket Assembly

ZP Series

Buffer Assembly: With One-touch Fitting,Vacuum Inlet Direction R Type/ZPR

Product ZPR O @ O (JIK) B -
part no. T T
Pad diameter Connection thread (Male thread)
Pad form Vacuum inlet (One-touch fitting)
Pad material Buffer stroke
J: Rotating, K: Non-rotating
Component ﬂ
arts i
p = (®Mounting nut ©®Mounting nut
(DBuffer plate
=t (MBuffer
@Butfer (With mounting nut)
With buffer plate
With mounting nut ;
| (®Buffer connection nd SN
adapter (With gasket) | L[| 7
(B)Buffer connection
adapter (With gasket) FGasket |
(F)Gasket .
| (©Pad mounting
©Pad mounting adapter
adapter
Syimbol PPad diameter symbol
i 02 | 04 | 06 | 08 | 10 | 13 | 16 10 | 13 | 16 | 20 | 25 | 32 40 50
Flat type U [ J (J [ J [ J = = = () [ [ J () () [ [ J [ J
Flat type withribs| C | — — — — = = () [ J [ J [ J (] () (] [
Bellows type B — — [ J [ J — — — (J [ J [ J [ J () [ J [ J [ J
@Pad form Thinflattype |UT| — | — | — | — | ® | ®@ | ®@ | — | — | —| —| — | — — —
Thin flat type with ribs| CT | — — — — [ J [ J [ J = = = = —
Deep type D — — — — — — — o — [ J — (J = [ J =
6 [ J () [ J [ J [ J [ J [ J = = = = = = = =
10| © () [ J [ [ J [ J [ J () [ J [ J () () [ ] [ J [ J
15| @ () [ J [ J [ J [ J [ J = = = = = = = =
20 | — = = = = = = () [ J [ J () () [ J [ J [ J
@©Buffer stroke Stroke 25 e ° ° ° ° ° ° — T = =
30 | — = = = = = = () [ J [ J () () [ ] [ J [ J
40 | — = = = = = = () [ J [ J [ J () [ ] = =
50 | — = = = = = = (] [ [ o (] [ (] [
oc , v M8x1 | A8 [ — — —
onnection ale
thread thread |- M10x 1 |A10 — L L —
M14x1 |A14 — = = [
(A)Buffer ZPB1(J/K)® ZPB2(J/K)® ZPB2(J/K)® ZPB3(J/K)3
®Buffer P23 One- | o4 |04 ZPRS-04-B5 ZPRS-04-B5 ZPRL-04-B5 —
connection NEMT] tpgch 6 06 ZPRS-06-B5 ZPRS-06-B5 ZPRL-06-B5 ZPRL-06-B8
adapter  [UICH fitng | 8 | 08 — — ZPRL-08-B5 ZPRL-08-B8
©Pad mounting adapter ZPT1-B5 ZPT2-B5 ZPT3-B8 ZPT4-B8
(D)Buffer plate (Single unit) ZPB1 — — —
@Mounting nut (Single unit) RB08J ZPNA-M10 ZPNA-M10 ZPNA-M14
. . 10 pcs.*! ZP-5G2 ZP-5G2 ZP-8G2 ZP-8G2
@Gasket (Single unit) 100 pos.* M-5G2 M-5G2 — —

x1 The gasket (single unit) sales unit is shown.

[Buffer assembly part number example]
ZPR10BN [K|[20]- 04 - A10
ZPB2 E

(3Buffer stroke

®125




Basic Pad .
Mounting Bracket Assembly ZP Series

Model
Selection

Buffer Assembly: With Barb Fitting, Vacuum Inlet Direction Y Type/ZPY
Product ZPY DO @O JIK)B-@-®

part no. T T
Pad diameter T Connection thread (Male thread)
Pad form Vacuum inlet (Barb fitting)
B
ng

Pad material uffer stroke

J: Rotating, K: Non-rotati

| Flat Type

Component ﬂl

parts (OMounting nut

(DMounting nut
(©Buffer plate
| |

L _
@ 1
| (BPad mounting

adapter e
(®Pad mounting ‘
adapter

Flat Type
with Ribs

(®Buffer
(With mounting nut)

sssc
J

(®Buffer
With buffer plate
With mounting nut

Flat,
Ball Joint Type

Thin Flat Type | Bellows Type |

Symbol P Pad diameter symbol
02 | 04 | 06 | 08 |10 | 13 | 16 | 10 | 13 | 16 | 20 | 25 | 32 40 50
Flat type Ule e | e e[ [—[—|e|eo | eo|[eo e[| e e "
Flattypewithribs | C | — | — | — | — | — | — | — | @ ® [ ) [ ) [ J () [ () gt
Bellows type B|—| —| e | @¢| —| —| — e | o | ©o|® | e | @ ) ® =
@ Pad form Thin flat type ut| — | — | — | — [ [ [ e e e e e — — u=_- §
Thin flat type withribs | CT | — | — | — | — () o (] = |l =|l=l=|=|= = = F |
Deep type D | — — = = = = = [ J = [ J = (] = (] = o
6|lo | o o | e | e @ | o|— | —|[—|=-"1T=-"1=1=1+= =
10| © [ J [ J [ J [ J [ J [ J [ J [ J [ J [ J [ J [ J [ J [ J b
15| @ [ J [ J [ J [ J [ J [ J = = = = = = = = 8
20 | — — — — — = = [ J [ J () [ J [ J [ J [ J [ J —
©Buffer stroke Stroke el e e e e el i ininin e — — 5
0| — | —|—|—| -] —|—]|e| e | e|e| e o e ° E
] — [ —[=-[=]=-]=]e|]e|e|[e|e|e| — | — 5
50 | — — — — — — — [ J [ J [ J [ J [ J [ J [ J o —_
_ M8x1 | A8 ° — — — £82
Ocermecion . NRNTITENINE - . . — | Hi
M14x1 [A14 — — — o =
(ABuffer ZPB1(J/K)® ZPB2(J/K)3® ZPB2(J/K)3 | ZPB3W/K)3
_‘g = For @4 nylon tubing | N4 ZPY1-N4-B5 ZPY2-N4-B5 ZPY3-N4-B5 —
:la:ilnling § £ | For 6 nylon tubing | N6 ZPY1-N6-B5 ZPY2-N6-B5 ZPY3-N6-B5 ZPY4-N6-B8
atepter || € | For 04 soft tubing | U4 ZPY1-U4-B5 ZPY2-U4-B5 ZPY3-U4-B5 —
(<) @ | For o6 soft tubing | U6 ZPY1-U6-B5 ZPY2-U6-B5 ZPY3-U6-B5 ZPY4-U6-B8
(©Buffer plate (Single unit) ZPB1 — — —
(DMounting nut (Single unit) RB08J ZPNA-M10 ZPNA-M10 ZPNA-M14

[Buffer assembly part number example]
ZPY50CN [J][50]- N6 - A14
ZpPB3 J][50]

(3®Buffer stroke

Precautions

126 ®



Ball Joint Type

Basic Pad ZP Series

Mounting Bracket Assembly

Adapter Assembly: Vacuum Inlet Direction Vertical Type/ZPTLIF

Product
part no. ZPTOFL-2-0
Pad diameteI T T TConnection thread (Male thread)
Pad material Vacuum inlet (Female thread)
Component
parts [I | 5
C
[
(BMounting nut
(®Adapter 1 .3 ‘ 9
(With mounting nut) ﬁ Aﬂ
I —
P Pad diameter symbol
Symbo Smol 40 13 16 20 25 32 40 50
8 © T | M8x1 | A8 ZPTF1-B5-A8 — —
§ EL| M5x038 B5 ﬁ M10x1 | A10 — ZPTF2-B5-A10 —
10 S| Miax1 |A14 — — ZPTF3-B5-A14
M8 x 1 RB08J — —
Mounting nut
(Single unit) M10 x 1 — ZPNA-M10 —
M14 x 1 — — ZPNA-M14
Adapter Assembly: Vacuum Inlet Direction KAl T Type/ZPTLF
Product ZPTOFO-®
part no. T T
Pad diameter T Vacuum inlet (Female thread)
Pad material
Component
parts E}
(®Adapter sl
. @ Pad diameter symbol
d 10 13 16 20 25 32 40 50
N E B M5 x 0.8 B5 ZPTF1-B5 ZPTF2-B5 —
2B £| mex12s [B8 — ZPTF2-B8 ZPTF3-B8
S Bl o Rc1/8 BO1 — ZPTF2-B01 ZPTF3-B01
é § % NPT1/8 NO1 — ZPTF2-NO1 ZPTF3-NO1
(N U NPTF1/8 | TO1 — ZPTF2-TO1 ZPTF3-TO1

® 127




Basic Pad Ball Joint Type
Mounting Bracket Assembly ZP Series

Model
Selection

Adapter Assembly: With One-touch Fitting, Vacuum Inlet Direction R Type/ZPRLIF

Product ZPROFO-2-0Q
part no. T T
Pad diameter T T Connection thread (Female thread)
Pad material Vacuum inlet (One-touch fitting) g
e
Component L
parts —
[ N7]
B} _ﬂ 2
- O
(®Adapter Sl H 5g
== —
‘%4’ g
=
T J 8 E
s
=
o
iIPDPad d e DO
Symbol Symbol
ymee S ET 13 16 20 25 32 40 50
B s o4| 04 B8 o | M5x08 | B5 ZPRF1-04-B5 — —
g E § |6 06 B 2| M5x08 | B5 ZPRF1-06-B5 ZPRF2-06-B5 ZPRF3-06-B5
S BENS §§ @ | M8x1.25 | B8 — ZPRF2-06-B8 ZPRF3-06-B8
SE 25l 5] os BE £ [ M5x08 | BS — ZPRF2-08-B5 ZPRF3-08-B5
) (- = | M8x1.25 | B8 — ZPRF2-08-B8 ZPRF3-08-B8

Thin Flat Type .
I Deep Type | with Ribs | Thin Flat Type | Bellows Type |

Construction

o, 2
oo
;.-xE
=)

Sc9
ok
=m<

Precautions

128




Basic Pad

Mounting Bracket Assembly

Ball Joint Type

ZP Series

Buffer Assembly: Vacuum Inlet Direction Vertical iy Type/ZPTLIF

(ABuffer

i

With mounting nut
With gasket ) ‘

(DGasket

(®Pad mounting adapter%

_— 0

T

 — —

©Mounting nut

Product ZPTOFOWK) @-®-®
part no. T T
Pad diameter T Connection thread (Male thread)
Pad material Vacuum inlet (Female thread/One-touch fitting)
J: Rotating, K: Non-rotating Buffer stroke
Component One-touch fitting
parts

2

ymbol @ Pad diameter symbol
10 13 16 20 25 32 40 50
10 [ J [ J [ J [ J () [ J [ J (J
20 [ J [ J [ J [ J [ J [ J [ J (]
@Buffer stroke Stroke 30 [ ® ® ® ® [ [ [
40 o o [ J — — — — —
50 [ J [ J [ J [ J [ J [ J [ J [ J
OConnection 2§ Miox1 |A10 (J = =
thread =<| Mi4ax1 | A14 — [ (J
| M5x0.8 | B5 ZPB2(J/K)3-B5 — —
5 § g Reis_|Bo1 — ZPB3(J/K)2-B01 ZPB3(J/K)2-B01
=l 5 £| NPT1/8 | NOT — ZPB3(J/K)2-No1 ZPB3(J/K)2-N01
(®Buffer [IE NPTF1/8 | TO1 — ZPB3(J/K)2-T01 ZPB3(J/K)2-T01
§ g o4 04 ZPB2(J/K)3-04 — —
© EBIES 06 ZPB2(J/K)3-06 ZPB3(J/K)2-06 ZPB3(J/K)2-06
SE[ o8 08 — ZPB3(J/K)2-08 ZPB3(J/K)2-08
(BPad mounting adapter ZPTF1-B5 ZPTF2-B8 ZPTF3-B8
©Mounting nut (Single unit) mlg z 1 ZPN5M1O ZPNA-M14 ZPNA-M12
@Gasket (Single unit) 10 pcs.*1 ZP-5G2 ZP-8G2 ZP-8G2
100 pcs.*1 M-5G2 — —

%1 The gasket (single unit) sales unit is shown.

[Buffer assembly part number example]

ZPT20FN [J][10]- 06 - A14
ZPB3 [J][10

Buffer assembly
®129

(@Buffer stroke




Basic Pad Ball Joint Type

Mounting Bracket Assembly ZP Series

Model
Selection

Buffer Assembly: With One-touch Fitting, Vacuum Inlet Direction R Type/ZPRCF
Product ZPROFO (J/K)@-3-®

part no. T T
Pad diameter T Connection thread (Male thread)
Pad material Vacuum inlet (One-touch fitting)
ng B

J: Rotating, K: Non-rotati uffer stroke §
-
Component L
g3
©Mounting nut Y-
% £
Tl
(®Buffer g
- - >
(With mounting nut) S
s E
]
fa:) 3
P
| g
e
[’
S
S
3
— 1 P
1|
®Pad mounting adapter el L H 5
[TH
o5 £
it La
C T 7 § »
- Q
B
L £
£%
£
Symbol —
10 13 16 20 25 32 40 50 2
10 ° ° ° ° ° ° ° ° >
20 ° ° ° ° ° ° ° ° S
@Buffer stroke Stroke 30 (] (] (] ° ® ® () ® a
40 [ J [ J [ J = = = = = —
50 ° ° ° ° ° ° ° ° s
OConnection Mi0x1 | A10 [ J — — :E’
thread M14x1 | Al4 — L L <§
(ABuffer ZPB2(J/K)2 ZPB3(J/K)2 ZPB3(J/K)2 —
®)Pad S | o4 04 ZPRF1-04-B5 — — £82
mounting (KN 2 o| 06 06 ZPRF1-06-B5 ZPRF2-06-B5 ZPRF3-06-B5 358
adapter "W S £ 48 08 — ZPRF2-08-B5 ZPRF3-08-B5 =" <
©Mounting nut M10x 1 ZPNA-M10 —_— —_—
(Single unit) M14 x 1 — ZPNA-M14 ZPNA-M14

[Buffer assembly part number example]
ZPR10FN [K]|[30]- 06 - A10
zPB2 K][30]

(2Buffer stroke

Precautions

130




	Mounting Bracket Assembly



